
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

6th Month, 1st Week, 4th Day Exercise 5.2 Q# (1,2,3)

 Answer the following questions:  
Q.1. Use the information given in the table to make a line graph and answer

the following questions.     (1x5=5)


Time        5 P.M 6 PM 7 PM 8 PM 9 PM 10 PM 11 PM

Number of diners


19 25 15 30 35 22 10

(i) During which 1 hour interval did the greatest decrease in the number of

diners occur?


(ii) What was the difference in the number of diners between the hours

when the restcurant was the most crowded and the least crowded?




Q.2. The table shows the vehicles that Tahir saw on the road during a

particular time. Draw a pie graph and answer the following questions.

(1x5=5)




Name of vehicles


Car        Bicycle 

Number of vehicles


100 20

Motorbike


Rickshaw


Van


Bus


130 80 10 25

(i) How many more cars did Tahir see than the bus?


(ii) Which vehicle did Tahir see the most? 
(iii) Which vehicle did Tahir see the least?    
(iv) How many vehicles were there together? 
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